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                       INDIAN SCHOOL AL WADI AL KABIR 

Class: X Department: Social Science Sub: Economics 

 

Chapter-2  

Worksheet-2 

Topic: Sectors of the Indian Economy Year: 2023-24 

 
 

1 Name one functioning activity in the Tertiary sector? 

A. This sector gradually became associated with the different kinds of industries 
B. Activities in which natural products are changed into other forms through ways of 

manufacturing 
C. Produce a good by exploiting natural resources. 
D. Goods that are produced would need to be transported by trucks or trains and then sold 

in wholesale and retail shops 

2 The sectors are classified into public and private sectors on the basis of ________________. 
 

A. Employment condition  
B. The nature of economic activities  
C. Ownership of enterprises  
D. Number of workers employed in the enterprise 

3 Rakesh works in an automobile unit in Gurugram. But he does not get any facility like health 
insurance, medical leave, paid leave, gratuity etc. Which sector he belongs to? 
 

A. Public sector  
B. Organised sector  
C. Private sector  
D. Unorganised sector 

4 Which one of the following pairs is correctly matched? 
 

A. Primary Sector       – Manufacturer 
B. Secondary Sector   – Fisherman 
C. Tertiary Sector       – Priest 
D. Public Sector          – Reliance 

5 Which of the following types of activities are covered in the secondary sector? 
 

A. It generates services rather than goods. 
B. Natural products are changed through manufacturing. 
C. Goods are produced by exploiting natural resources. 
D. It includes agriculture, forestry and dairy. 
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6 In India_________ sector is largest employer while ___________sector is largest income 
generator.   
 

A. Secondary, Tertiary 
B. Primary, Secondary 
C. Primary, Tertiary 
D. Tertiary, Secondary 

7 If there is a disruption by transporters and lorries refuse to transport vegetables, milk, etc. from 
rural areas to urban areas, food will become scarce in urban areas, whereas farmers will be 
unable to sell their products. Which of the following sectors will be affected due to this 
situation stated above?  
 
a. Primary and Secondary  
b. Secondary and Tertiary  
c. Tertiary, Primary and Secondary  
d. Tertiary and Primary. 

8 Why  the tertiary sector is so important in India?  
 

a. Government is taking the responsibility of providing the basic services.  
b. Development of agriculture and industry leads to the development of services such as 

transport, trade, storage and others. 
c. In India maximum population is dependent on agriculture that’s why this sector 

dominates.  
d. As income level rise, certain sections of people start demanding many more services.  

Options: - 
A) a, b, c and d are correct  
B) a, b and d are correct  
C) b, c and d are correct  
D) a, b, and c are correct 

9 The total production in  an year in the three sectors is calculated from _________________. 
 

A. the value of goods calculated separately at all stages of production in that sector 
B. the value of final goods produced in that sector 
C. the value of final goods and services produced in all the sector 
D. the value of final goods and services produced in the three sectors  

10 MGNREGA has guaranteed ………. days of wage employment in a year in many districts of India. 
 

A. 200 days 
B. 100 days 
C. 150 days 
D. 250 days 
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11 Which among the following is a feature of organised sector?  
 

A. No Fixed number of work hours  
B. Employment is insecure 
C. No Paid holidays  
D. Registered with the government 

12 Fill in the blank: 
 

SECTOR CRITERIA USED 

Secondary sector associated with the different kinds of 
industries 

Service sector                     ? 

Options: -  
A. Involves the production of goods  
B. Services that help in the production of goods  
C. Involves exploitation of natural resources  
D. Associated with manufacturing activities. 

13 Read the source given below and answer the following questions – 
There are thousands of casual workers in the service sector in urban areas who search for daily 
employment. They are employed as painters, plumbers, repair persons and others doing odd jobs. 
Many of them don’t find work every day. Similarly, we see other people of the service sector on 
the street pushing a cart or selling something where they may spend the whole day but earn very 
little. They are doing this work because they do not have better opportunities. 
 
13.1. The passage given above relates to which of the following options? 

A. Cyclical Unemployment 
B. Educated Unemployment 
C. Disguised Unemployment 
D. Seasonal Unemployment 

 
13.2. Underemployment occurs when people  

A. do not want to work 
B. are working in a lazy manner 
C. are working less than what they are capable of doing 
D. are not paid for their work 

 
13.3. Where will you find the disguised unemployment?  

A. Among agricultural workers working for small farm lands 
B. Among part-time industrial workers 
C. In most of the government offices 
D. In big private companies 

 
13.4. Which of the following is the way to solve underemployment situation in rural area?  

A. Banks should provide agricultural credit to the farmers.  
B. Tourism, regional craft industry and Information Technology should be encouraged. 
C. New dams and canals should be constructed. 
D. All of the above 
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ASSERTION AND REASONING: -  
In the question given below, there are two statements marked as Assertion (A) and Reason (R). Read the 
statements and choose the correct option: 

14 Assertion (A): In certain areas, government has to undertake heavy spending to ensure that 
facilities are available to everyone in the society. 
Reason(R): Some of the things needed by the society, require spending large sums of money, 
which is beyond the capacity of the Private sector. 
Options: 

A. Both A and R are true and R is the correct explanation of A.  
B. Both A and R are true and R is not the correct explanation of A. 
C. A is true but R is false.  
D. A is false but R is true. 

15 ASSERTION(A): Not every good or service that is produced or sold needs to be counted to know 
the total production in each sector. 
REASON(R): The value of intermediate goods already includes the value of all the final goods. 

A. Both A and R are true and R is the correct explanation of A.  
B. Both A and R are true and R is not the correct explanation of A. 
C. A is true but R is false.  
D. A is false but R is true.  

 


